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The Jlgures 7n the n'atgln Tndlcate
full narks Jor the questlons'

Ansuter ang tUE qtestions'

1. (a) What do You mean bY language
accePted bY DFA ?

(b) Language accepted by a PDA i= '"'":l
(tAie-0, tgPe-1, tgPe-2, tgPe'3)
language.

(c) Define null string.
Consider the following diagram and
answer questions (d) - (U

Contd.



('1) 
U"ail".ff.Tlgil"I"t accepted

(e) What is tl
"uor. ai"i.Xffase accePted bv the

A Write a r
language 

t*l]::-^t"P'gssion for the
ai"d.*]' accePted br the 66or.

@) Write a gr
accepted #f; f il"i'.' oil|fi"*".u.

h) ls this diag:' arswer. ram is DFA ? ExPIain your

(, palindrome

rp'e'i;'zoo#'r::ffi l!":i;
(i) pumping lemma is used for .............

2. Draw the DFA (or 
2xro=2o

NFA) for the languages :

(a) Over the arphabet Z=tr,rf "r"l,l"iall the strinsr
with ;;' il'".:o"Lfft, lansuase start

@ lver the alphabet I ={q 1.} such thatthe binarSr reor

,",l;i:'ffi il:T:,:::".ij$.:."ff .;

s3 (cs so2l rHcp/c 2



3.

Prove that, if a language is regular then
its complement is also regular.

Convert the following NFA to its
equivalent DFA.

Write a regular expression of the
language

t={w e{a, b\*,|*l=oddl

Constract a NFA for the regular
expression r=(a+b*)*. 7+7+6

State the Pumping lemma for the
regular language. Using pumping
lemma prove that the language

L=la"b": rt >o I is not regular.

Explain how a language is recognised
by a PDA. What is the role of stack in
PDA ?

lo+ 10

Write a grammar for the language

I.=la"b^ ,n.^l

(c)

(a)

4.

h)

(c)

(a)

(b)

(a)

53 (CS 502)THCP/G 3 Contd.



(b) What is ambiguous grammar ? Explain
with suitable example.

10+10

6. (a) Define PDA. Design a PDA for the

language y=la"b^ : n, m> o l.

(b) What is NPDA ? Is the NPDA and DPDA
are equivalent (6xplain) ?

10+10

7. Write the short notes on : 4x5

(a) Turing Machine

(b) Turing Thesis

(c) Recursive language

(d) Language hierarchy.
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